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@ Problems ( #5044 ) «

I. The only two goods that give Bart wlility are coffee and books. When boaks
cost $600 each and coffee costs $150 per cup, his optimal consumplion bundle
is 8§ cups of coffee and 4 books. What is his income? Now the price of coflee
rises to $240 and the price of books falls to $400, so he can afford 2 combination
of 10 cups of coffee and 3 books if he so desires. Would it make any sense for
him to consume this new combination? [Hint: Draw a graph.] ( # 5 4 )

2. Suppose that an individual has utility function ufx,p)=3x"y. The marginal rate of
substitution at point (x,y) is given by MRS(x,y)=2y/3x.
(a). Ifthe price of x is 10, the price of y is 8, and income is 800, find the optimal
bundle of x and y. :
{(b). Now suppose that income rises to 1000. Find the new optimal bundle of x and
y . Are the goods normal or inferior? ( 3 5 4 )

1, Justin enters a room full of people. If Justin is younger than the average person
already in the room, does the average age of people in the room rise or fall
when Justin enters? Why? ( #£54& )
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4, Imagine that the increased use of computers in public schools greatly increases
the human capital of the population, making workers more productive, on
average. Ifa firm's production function is iven by f(L, K H), what happens to
the firm'’s isoquants in capital-labor space when human capital increasing ?
Explain your answer. ( 3 5 % )

5. Assume the demand function for a good is given by P=100-Q, where P' is the product price
and Q is the industry output. There are only two firms in the industry, and the total industry
output is the sum of the firms’ individual cutputs-that is , Q=qi+gz . Each finm has a constant
marginal cost of production MC=20, and there are no fixed costs.

a. Find the Cournot equilibrium levels of output for each firm. How nmch profit does each firm
make?

b. If the two firms could perfectly cooperate, what level of output would each produce? How
much profit would each firm make?

c. If firm 1 is a Stackelberg leader and Firm 2 is a Stackelberg follower, what level of output
would each produce? How much profit would each firm make? ( # 10 4 )

6.1n simple Keynesian model, suppose that MPS = 0,05 and MPC = 0.80. What the marginal
propensities to import (MPIM)? Suppose disposable income increases from £900 billion to
$1,000 billion. By how much would consumption rise? By how much would saving rise? By
how much would import rise? Is the sum of your answers equal to the change in income? ( 3%

104 )

7. What is the traditional Keynesian transmission mechanism for monetary policy 2( #5492 )

% What is the Ricardian equivalence proposition? ( # 5 & )
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